

Page 1 of 1

#### Florida Department of Transportation



Letting:

**Vendor Ranking** 

Call Order: 005 Contract: E2Y92-R0

District: District 2 Counties: ST JOHNS Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44422517201 (\*)

March 18, 2020 11:00 AM

Contract Desc: Concrete Repair

02200318

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BURNETT CIVIL CONTRACTING OF FL	Responsive	Winning bid	\$146,250.00	100.00%
2	CONCEPT CONSTRUCTION AND DEMOLI	Responsive	Non-Winning Bid	\$149,800.00	102.43%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$267,447.50	182.87%
4	CDM CONTRACTING, INC.	Responsive	Non-Winning Bid	\$273,280.00	186.86%
5	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$339,200.00	231.93%
6	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$361,598.00	247.25%
7	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$372,250.00	254.53%
8	WEST TO WEST CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$432,300.00	295.59%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



**Tabulation of Bids** 

Page 1 of 5

**Letting:** 02200318 March 18, 2020 **Call Order:** 005 **Contract:** E2Y92-R0

District: District 2 Counties: ST JOHNS Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44422517201 (\*)

Contract Descr: Concrete Repair

This is a Business Development Initiative Contract to provide all equipment, materials, labor and incidentals to repair concrete within the FDOT's right of way at various locations. RENEWAL OPTION, BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at: http://www.cmdp-bgp.com/bdi-projects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Alte	rnate Quantity Units	\ / -	IETT CIVIL TING OF FL	l ` '	CONSTRUCTION DEMOLI	` '	MANAGEMENT & NG OF FLORIDA
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LLC Ext Amount





## **Tabulation of Bids**

Page 2 of 5

Lettin	<b>g</b> : 02	2200318	March 18, 2020	0 Cal	Il Order: 005		Contract:	E2Y92-R0	
	No / Item ID	Alternat	e Quantity Units	(1) BURNE CONTRACT		(2) CONCEPT C		CONSULTING	
	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001	CONCRETE PA	AVEMENT SURFA	CE REPAIR (SF)				
	0430984125 ED END SECTI D, 18" SD	ON, OPTIONA	24.000 AL EA	1,000.00000	24,000.00	800.00000	19,200.00	1,880.00000	45,120.00
	0430984129 ED END SECTI D, 24" SD	ON, OPTIONA	20.000 AL EA	700.00000	14,000.00	1,000.00000	20,000.00	1,880.00000	37,600.00
0015 CONCF	0520 1 10 RETE CURB & 0	GUTTER, TYF	200.000 PEF LF	15.00000	3,000.00	25.00000	5,000.00	18.61000	3,722.00
0020 VALLEY	0520 3 Y GUTTER- CO	NCRETE	50.000 LF	15.00000	750.00	22.00000	1,100.00	39.61000	1,980.50
	0522 1 RETE SIDEWAL WAYS, 4" THIC		2,000.000 SY	41.00000	82,000.00	41.00000	82,000.00	71.61000	143,220.00
	0522 2 RETE SIDEWAL WAYS, 6" THICI		500.000 SY	45.00000	22,500.00	45.00000	22,500.00	71.61000	35,805.00
0001	1 CONCRETE F SURFACE R		Section Totals:		\$146,250.00		\$149,800.00		\$267,447.50
		Contract G	rand Totals:		\$146,250.00		\$149,800.00		267,447.50





## **Tabulation of Bids**

Page 3 of 5

Lettin	<b>g:</b> 022	00318 M	larch 18, 2020	O Cal	l Order: 005		Contract:	E2Y92-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) CDM CONTF	RACTING, INC.	(5) MAER H	OMES, LLC		ANGLER CTION INC.
( ) inc	dicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: (	0001 (	CONCRETE PA	AVEMENT SURFA	CE REPAIR (SF)				
	0430984125 ED END SECTIO D, 18" SD	N, OPTIONAL	24.000 EA	1,045.00000	25,080.00	1,800.00000	43,200.00	2,557.00000	61,368.00
	0430984129 ED END SECTIO D, 24" SD	N, OPTIONAL	20.000 EA	1,060.00000	21,200.00	1,800.00000	36,000.00	2,824.00000	56,480.00
0015 CONCR	0520 1 10 RETE CURB & G	UTTER, TYPE	200.000 F LF	82.00000	16,400.00	100.00000	20,000.00	50.00000	10,000.00
0020 VALLEY	0520 3 Y GUTTER- CON	ICRETE	50.000 LF	152.00000	7,600.00	100.00000	5,000.00	45.00000	2,250.00
	0522 1 RETE SIDEWALK WAYS, 4" THICK		2,000.000 SY	74.50000	149,000.00	90.00000	180,000.00	90.00000	180,000.00
	0522 2 RETE SIDEWALK WAYS, 6" THICK		500.000 SY	108.00000	54,000.00	110.00000	55,000.00	103.00000	51,500.00
0001	I CONCRETE PA SURFACE RE		ction Totals:		\$273,280.00		\$339,200.00 <sup>°</sup>		\$361,598.00
	(	Contract Gra	nd Totals:		\$273,280.00		\$339,200.00		361,598.00



**Contract Grand Totals:** 

# Florida Department of Transportation

03/26/2020

## **Tabulation of Bids**

Page 4 of 5

Lettin	<b>g</b> : 022003	18 Ma	arch 18, 2020	) Cal	II Order: 005		Contract:	E2Y92-R0	
	e No / Item ID /	Alternate	Quantity Units	(7) MIDWI		(8) WEST T			
( ) in	dicates item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	C	ONCRETE PA	VEMENT SURFA	CE REPAIR (SF)				
	0430984125 ED END SECTION, O D, 18" SD	PTIONAL	24.000 EA	3,000.00000	72,000.00	3,200.00000	76,800.00		
	0430984129 ED END SECTION, O D, 24" SD	PTIONAL	20.000 EA	3,200.00000	64,000.00	4,200.00000	84,000.00		
0015 CONCE	0520 1 10 RETE CURB & GUTTI	ER, TYPE F	200.000 LF	100.00000	20,000.00	75.00000	15,000.00		
0020 VALLE	0520 3 Y GUTTER- CONCRE	ETE	50.000 LF	125.00000	6,250.00	80.00000	4,000.00		
	0522 1 RETE SIDEWALK ANI WAYS, 4" THICK	D	2,000.000 SY	80.00000	160,000.00	100.00000	200,000.00		
	0522 2 RETE SIDEWALK ANI WAYS, 6" THICK	D	500.000 SY	100.00000	50,000.00	105.00000	52,500.00		
000	1 CONCRETE PAVEN SURFACE REPAIR		ion Totals:		\$372,250.00 <sup>°</sup>		\$432,300.00		

\$372,250.00

\$432,300.00



03/26/2020

#### **Tabulation of Bids**

Page 5 of 5

**Letting:** 02200318

March 18, 2020

Call Order: 005

Contract:

E2Y92-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.